Math 2568, Quiz #10, Spring 2013 Name S

Instructions: If the problem cannot be done by inspection, you should show work to justify your
answers.
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1. Forthe matrix4 = _32 % 8 _01 , determine the following:
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The Rank of the matrix. /74
b. The dimensions of Nul A. O
c. The dimensions of Row A. L—{
d. The dimensions of NulA. (D

e. The rank of A if it exists. /-‘
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2. For a 9x5 matrix with three pivots find: m
a. Dimensions of Nul A 52

b. Dimensions of Col A )
¢. lsthe matrix one-to-one?  {\O (Y&O{' inda P 6’&1 ’ )
d. Isthematrixonto? (0 { needs qu\\lo 3 faus o \ﬂ« .

Sl W\>‘(\
e. What are the dimensions of the vector space A maps from? & (’[]Zg)

f.  What are the dimensions of the vector space A maps into? q (OL wépd,a; 4?) 772(‘)

3. Given the bases B={b, b,, bs} and C={c,, c,, cs} below, find the change of basis matrices CPB and
“«—

P . If the B-coordinate vector for ;c is as shown, find the C-coordinate vector for ;c .
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